2021 F2ERIBERH REXTE

“HRIE S EE” (hERE) A=
P T A WAL, 2 AR AR RE A TS
5K, HEETURE.

— B WHEEAREERSK

i i FEFE
K HATE K 8%
FE A YK 3%
A LB 4% (12, 22), % (3F, 4%F)
VE: WIRTEARS4TI 6. EHREZEE 10,
= T E%¥%
I b5 SEHr M4 S0 rE
NIV 40 70 5 JiJu/4E 40 J3 G 6 %%
5 30 JiTG 4 Jiou/4E 30 JiJt 5 %
N 20 JiJG 3 JiJu/4E 20 Ji7C 4 %
=. &% 5%
7% e REE L2y X
HEFEER B o 1 o [y i FRAE
METTLE | 470 . 27 0 JiJt |1 HJG/HE | 1T
H 22k 147576 | 2% 1% 276 | 1ZF | 27iw/% | 27i0t
F 2k 18 H7T 37 1% 0 /it |2 HIG/HE | 2 G
FHL 2% 0 JiJt . 1% 0 JiJt T |8 Fiuu/H | -8 Jigt
. A&FEITE (FHERE)
B B B B BAR
EFR | NER | RE | wm | mom | mas | mate | mote
HERFTL | 47576 | 1T 0 17 | 1 AT 1 Jigt 0 JiJt
H 3l 2k 147760 | 2 oG 0 3ot | 3T 3 it 3t
Tk 18 JiJt | 2 JiJt 0 46 | 4 Jigt 4 J3iJG 4 Ji7t




. FRFREERSHK

LR FRHERH | FREAE | FRA# | WI%H | EESE e AR
P1 1 Jiot/Z= 2 HJG 22 1 Jige/A | 2 Jioe/ A R1
P2 2 Jigu/ZE 4 G 22 1 Jige/A | 3 ot/ R2
P3 3 JiJu/Z= 6 Ht 22 1 Jige/A | 4 Jioe/A R1+R3
P4 4 Ji76/ZE 8 it 27 1 Jige/A | 5 Jioe/A R2+R4
N+ ISOFAINIES K

IS0 K%Y FEMEFH FERR e o &7 4ac]
1509000 2 Jioo/ 4 2 4F 4 Fi7C
1S014000 3 oo/ 2 4F 6 /it
+. T HFESHK
ik FEFHRH FFIRERR o \PAR i das]
DI 1 Jiu/4 2 4 2 17t
& B 1 Jioe/4 34 3 JiJt
i A BAKE AT ERT AR TR
N BB 5%
A T LMY Er L
R1 1 Jige/A 1z
R2 2 Jigt/ A 1z
R3 2 HIt/A 2 2=
R4 2 HIt/A 2 2=
. THERE. HNKEHK
1. BRE MO
s .
FE4y o) ZHh [X 15, 55 RIA! & F5
Pl 68 86 69 0 0
» P2 66 88 74 0 0
F2E P3 56 49 16 0 0
P4 0 0 0 0 0
Pl 0 128 77 81 0
» P2 0 72 137 79 0
CERS P3 55 61 58 0 0
P4 56 61 68 0 0
Pl 0 66 66 72 77
» P2 62 0 69 69 73
H AR P3 58 66 0 72 7
P4 62 63 69 0 73




2. ¥yt (o)

E | o Tk | x| EBn | BN | EE
Pl 5.8 5.64] 5.52 0 0
» P2 7.35|  7.26| 7.45 0 0
& 24 P3 8.07| 8.53| 850 0 0
P4 0 0 0 0 0
Pl ol 5.70] b5.65| 5.77 0
» P2 ol 7.35] 7.271| 7.46 0
LR P3 8.42| 8.46| 8.36 0 0
P4 10.45| 10.59| 10.54 0 0
Pl 0| 5.52] 5.67] 5.57] 5.71
. P2 7.37 ol 7.45| 7.49| 7.52
* P3 8.57| 8 .44 0| 8.47| 8.25
P4 10.66 | 10.40| 10.54 0l 10.30
3.8 (GkEO
[iB7] 3
FE4y 5 2 [X 15, 55| DI & F5
Pl 97 25 23 0 0
» P2 2% %5 24 0 0
& 24 P3 26 25 99 0 0
P4 0 0 0 0 0
Pl 0 12 25 97 0
» P2 0 24 15 97 0
LR P3 19 91 20 0 0
P4 19 91 20 0 0
Pl 0 99 99 24 95
» P2 20 0 93 23 25
F AR P3 20 99 0 24 95
P4 20 91 93 0 25

E: AR




